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(1) sk (2) Bk (3) 8w
mg/L A B C D E
Ca** 92 48 3.3 1.2 400
Mg?* , 34 10 0.4 0.7 1,350
Na’ , 8.2 40 1.0 0.0 10,500
HCO;y 340 120 0 7.0 142
S04~ 84 77 6.1 0.7 2,700
CI 10 54 2.0 0.8 19,000
585 4% B A 450 334 - 8.2 34,500
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A~ (10%) a4 0.02 M X acetic acid(Ka = 1.8%10%) » #x 4 3t log
concentration-pH diagram »

/\~ (10%) Find the equilibrium concentration of fluoride ions in pure water caused by

the dissociation of CaF, (Ksp =3*1071)), Express the answer both in units of mol/IL.
and mg/L. (the atomic weight of fluoride is 19)

76~ (10%) RRCE P2 bk Toh sl R I du T
KRB (mg/L) 50 100 300 500 1000
to & it B (hr-1) 2.1 2.9 4 4.4 4.7
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